
Lnr6tu p ru1[t hu2{b[Zhn

(nrtr{ruplr 2023p.

L,nn{hU Lnrtuptlnrl flt 4tr> OFe, p. bphtutr, Uprudlr +.4/3, rnupru0p 60

.{u p li u1 [U ltu qLlur ! bpq n Lpltutr urtr L[urtr n rdp h qLnb {b1n L {u,lnn)

(nr2 r{b Ln tln Lp1 uL rlru {bp ru g d urL u rl u ur ph {0' 3 0/1 0 12023p.

Ln t6uptulltt hruLitrudnrln{[ tr rufuuqruh clnn lftupqtuplutr

(huqup +nurd)

UL{ULnf\UC

2022p. rlb[uhtlpbp]r

31-[b urlruptn{ru6
drurftufuru[lu2ngurth

hrufup

2023p. (nrbr[rupJt

31-[t u{uprnr{ur6
durilrutrruIru2ngrutrh

hurftup

u\m[{hbp
rlp u du Qurtr dfrgn gtr bp tr putr ! ur1 frtr h ur2ir {tr bp 54,791 'l'15,841

([dutrru Llutr d[ gngtr bp 257,557 157,523i

Q1u!unILltrbp 7,654 7,8941

Ctrqturlhtr p' U[ tn fr r{trbp 320,002 281,258i

al u p rn u {n p n rp; n rfu trbp

9pbrlfrmnpu L1r.uL q urprnpbp p1nrgbir q6nu[ 375

U1I !pbq[Lnnpur lurtr qur pLnpbp 56 4,835;

Cbqurfbtrp' ahup tn rur[n p n rp1 n rfu tr h p 431 4,835;

trruqfrmu1

I urti ntrur 4p ur lq utr ! ur q fr Ln ur 1 1,129,591 1,129,591

apu2fu {u6 2uhn L1p/ (QnrLnu!{u6 {trur u)
(810,020) (853,t68)

Ch4urlbbp' truqlrmrul 319,571 276,423i

Cfu 4ru rlbfu p"Tl up rn ru{n p n rp; n rfu t bp tr tr ru q lr rn u1
320,002 281,258i



(ut{b(tu6 18

(uluumuLfr (uLpuqbmnLp1uL !bLmpnUu!uL puLll[r funphp4fr
2018 p{ul1uL[r rrhbtnpt{urpfr 2-fr pf t{ 1l-1, npn2rluL (u{blLlur6ir

<UCq.bS{nFftBnl.l., LnhuUf'{nt $hL,ULUUt{Ul, t{UQUUt{bnqnhO3UL, +nUUUl4UtJ UhAngubnh <nUPbPh
uuuhl,

LnLbup{nr1 $frLLutruur!urL !ruqrlulbpqnrplr.uL utrrlurtrnLdp' nLnn{hll LnF.tt{D OpC

Utluurpfrt{p 01.01.2023 p.-hg
dfrtrlbr 3TITZ23- p.

nuqun rynu,L

1n4Qw6fi wttQwbnLtlp
ltwlunpry

dwtlwttwQw2pgwtt

lw2Qbqnt
dwtlwttwQw2pgwtt

1 2 3 4

1 'Ip ut tltu Q ub [ft gngb b p fi tu b p h n uB 66,1,31

1.1
fltutr ! ur pdbp dbm ur 1Lbp fr purtr ! u1 frtr u m urtr rpl p m u g{ur6
6nLrurUmnnLbnh [r hnLrunnudLbnh durdtunohq

1.2. UndbBnBbnh Ut!6runBhq, urn ladnrd'
qbmu!utr undbprlpbnhq
nl qhr.nruUuL Lundbtanpbnhq

1.3.
(ur1 u u ur utr I h urtr p u q btn nrq urtr L hur rltrltrptr bp fr Lllur rn du dp

uruhutroLbnho

1.4.
(( lbbupnLulutr ptuLlf h unhtnpurlfrL ptuLlbplr Llurrntlurlp
uuhurLoLbnho

1.5.
Up Ln bp ! p n d qn p6n 11 putrl4bp I Lr nrl 1 $frtlutr u ru lutr
Lr r.u o dur l-r b n r-u n Lar n rtrtr b n h L [r u m d ur d n u ur h urlroll bn ho

1.6.
tlnrp!bpfr h 4bpfLnnpurlurtr u1upmpbph 4frdug
r.hntuhurr.nnLqnLrjLbnh uuuqnLd, uIn Bdnrd'

39,648

4nrnu qn{u6 UunUbnh 39,648

nnLnu ondu6 nbnhunnnurLurL ruunmobnh
1.7. Cru hru pudhLtrbnh um r.uqnrtl

1.8.
PULlfb qu LnQutrn 11 h[dLuQutr Uh2nglrbph [r n1 tr1 npu [1utr

rutrr.nhdLbnh omunnLdhq, rurn pdntd'
26,372

nnn

rbLpbn, rhLnLanrLtrbn 26,3',72

qnup [r qnulubl]ruUurhtr uur npr.udnnnLdtrbn

Uuq h t.t hu r1np4u lgduL df gngLbp, hu2tlnqu t4uL,

hudu !u pq1u1 ftr tr ru {tn ndu u !u nur {ur pilurL ur11 LnbfuLf lut

rh n [u ur nnur rlh g nqt]bp

turr hhdtruUuL dhqnqLbn

1.9 PntruqurLd{ru6 qpur {[ {u6ur npirg

uJLlurnd qnLtp



uJll qnrlp

1.10. Utt bllurjnLLnLbn 111

1 .11 U;1 ur"nurgtlur8 qnLdur ptrbp

2 npw[u\ub flt2ngbbplr wt q,ry!!!E 5,138

2.1
{6 u p n rdL bp q rr nln u m bnbp fr q u huL2ttbp lt pu t{tr p tu p tluttt

q6nd, num onbtrpnd uuhdurLdu6 hbnpbnh

2.2.
U2[uur Ln ru tlur pd fr Lr 4p utr hu {ru u ur p bg {ur6 {6u p n Ltltrbp I q&n {
6utuubn

9153

2.3. 9nn6nLndrutr 6ufuubn

2.4. 9ururh [r hurnnnnruUqilutr 6rufuubn 1t)4

2.5. turhquUnLpgutr 6ufuubp

2.6. 9ntlnLLr.ut 6uluubn
2.7. $nurubtrrru Uur rhtr tr mLm buuttuL 6u luubn 333

2.8. A nfu ur 4pur dfrgngtrbp fr u q ur u ur p ! dutr h q u hq urtrLlurL 6ur fu u bp

2.9. Urr6ufuubn 3,7 49

210. l-rbnnnnLdtlbn, u g4 p{nLtl

lrlnLpur LlurL uUm h{trbn h 6bnppbpnLLI

2.11 Ut Ll6runnulLbn
rlnutlurUurtr dhonqLbnh hnuBbnh qnLm u6 60,9193

nnur rlur UtuL q n Ltn df gngtrbp dur duL ur l4u2ppurtr fr ullqplld 54,791

u t n Bd n uI' tnbon htrdurtr u u hdutru r.h ur 1.1 n td n rLbg n q
gurtr[uumbu{n11 4prurlurl,1utr dfr2ngtrbp durdruLu!ru2nlruLh

rlhnonLtl
115,784

u r n atl n uJ' tntron hlrdurtl u ur hdu.rLtu r.h u U n tJ n LLbq n n

9nn lJurpquplur[r
(l-nr&r.upu4frL hurtrdtrudnln{fr trurfutuqurhfr/ lntdtupur;[rL ltunurt{urp1f utrnLLp,

tuqquLntLp)
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